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1. Cokparute 1po0Ob:
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5. Ympoctute BbIpakeHHE:
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6. HaiinuTe 3HaYeHUE BBHIpAKEHUS:

a) 61a-11b+50, ecm 2225 — o,
7a-2b+5

b) 39a-15b+25, econ 2222+ = 7.
6a—-3b+4

C) 3la—4b+55, ecin 22247 = g
4a—b+7

d) 41a-11b+15, ecnu —2=8*3 _ g
9a—4b+3

7. Pemmre ypaBHCHHE!

) X+4x=9x+36;  b) X*+7x’=4x+28;

c) x*+5x’=9x+45; d) x*+6x*=4x+24.

8. Pemmre ypaBHeHHE:

a)  X*=x+6X; b) x*=2x°+3x;

) X’=3x*+4x; d) x*=2x*+15x.

9. Pemmre ypaBHEHHE:

a)  X+5x°—x-5=0; b) x*+2x°—x—2=0;

c) xX*+5x*-9x—45=0; d) x*+4x’—x—4=0.

10. Pemute ypaBHeHuUE :

a) (x-2)%(x—3)=12(x-2);
b) (x—2)*(x—3)=20(x—2);
c)  (x—3)*(x—5)=35(x-3);
d)  (x-2)2(x—4)=24(x—2).

11. PemuTe ypaBHEHUE -

a) XO+2x+1)=2(x+1);
b) (x—1)(P+4x+4)=4(x+2).
C) X(X°+6x+9)=4(x+3).
d)  (x—1)(x°+8x+16)=6(x+4)




12. Pemmnre ypaBHEHHE

a) (x+5)°=25(x+5);

c) (x+2)°=16(x+2);

13. Pemmre ypaBHEHHE

a) (4x—8)%(x—8)=(4x—8)(x—8)%
b)  (2x—4)*(x—4)=(2x—4)(x—4)?;
c)  (2x-5)%(x—5)=(2x-5)(x-5)%
d) (2x—6)*(x—6)=(2x—6)(x—6).

14. Pemute ypaBHCHHE

a) (x=3)(x—4)(x—5)=(x—2)(x—4)(x-5);
b)  (x=2)(x—4)(x—6)=(x—4)(x~5)(x~6);
) (X—4)(x-5)(x—6)=(x—2)(x—5)(x—6);
d) (x=2)(x=3)(x—5)=(x—2)(x—4)(x-5).

15. Pemute ypaBHCHHUE:

a) X—2x+V3 — x =/3 — x+8;
b) x*-3x+V6 — x =6 — x+28;
c) X*-3x+V6 — x =6 — x+40;
d) x*-3x+v3 —x =3 — x+10.

16. Haiinute KOpeHb YpaBHEHUS:

a) (x+3)*=(x+8)%

c) (x+9)*=(x+6)%

17. PemuTe ypaBHCHHUE:

a) (X*—36)*+(x*+4x—12)*=0;
b) (X*-9)*+(x*—2x—15)*=0;
C)  (X*—49)*+(x*+4x—21)*=0;
d)  (*—4)*+(x*—3x—10)*=0.

18. Pemmre ypaBHEeHHE:!

a) (x+2)*~4(x+2)*-5=0;
b) (x+1)*+(x+1)*—6=0;
c)  (x+3)*+2(x+3)*—8=0;
d) (x—1)*-2(x—1)*-3=0.

b) (x+3)*=9(x+3);

d) (x+2)°=4(x+2).

b) (x—5)*=(x+10)%

d) (x+10)°’=(x—9)%

c)

c)

19. Pemmre ypaBHeHue:
a) x'=(2x-15)% b) x'=(3x-10)";

¢) X'=(4x-5)’; d) x=(x-12)".

20. PeimnTe HepABEHCTBO:

(1)’ <v2(x-1); b) (x-2)*<V3(x-2);

(x—3)*<V/5(x-3); d) (x—4)’<V6(x—4).

21. Pemmte HEpPaBEHCTBO:

—-12 -11

(x-1)2-2 20 b) (x-2)?-3 =0
-10 -13
(x-3)?-5 =0 d) (x-4)?-6 =0
22. Pemmrte cuCTeMy ypaBHEHUI:
2x —y = -8, x —2y =-8,
{x_-1+z:_1; b) {£+;:_1;
3 2 4 3
x+ 2y =5, 2x —y = =8,
{E_}_y_%:g; d) {x_‘1+2_1
4 3 2 3
23. Pemmre cucteMy ypaBHEHUI:
{3x2 —2x =y, b) {3x2 —4x =y,
3x—=2=y; 3x—4=y;
{sz — Sx = y, d) {sz —-—X=Y,
2x—5=y; 2x—1=y;
24. Pemnrte cUCTEMY ypaBHEHUI
{3x2+y=4, ) {2x2+y=4,
2x2—y=1; 4x% —y = 2;




3x2+y =6, x2+y=S5,
o e 227 o {77
4xc—y=1; 6x* —y=2.

25. Pemmurte cucteMy ypaBHEHHH:

) {2x2+3y2=11, ) {2x2+4y2=24,
4x% + 6y? = 11x; 4x% + 8y? = 24x;

) {x2+3y2=31, ) { 5x% + y% = 36,
2x% + 6y% = 31x; 10x2 + 2y? = 36x.




OTBeThI.

Ne i/ a. b. C d.
1. |x+3|x—-3|x—-2|x—4
2. |b—2|a—3|b-5|b—-2
a+3|b—-2|a—-4la—-4
Ne m/m a. b. C. d. e. f. g. h. I. J.
3. 12 24 100 10 75 45 48 108 100 80
Neni/nn a. b. C. d.
4. 4 64 8 9
5 5
5. -3 -2 -2 -4
6. 10 1 6 3
7. -4:-3;3 -7;-2;2 -5;-3;3 -6;-2;2
8. -2;0;3 -1;0;3 -1;0; 4 -3;0;5
9. 5:-1;1 2;-1;1 -5;-3; 3 -4:-1;1
10. -1;2;6 2;2: 7 -2;3; 10 -2,2;8
11. 2;-1;1 -3;-2; 2 -4;-3; 1 -5;-4;2
12. -10; -5; 0 -6; -3; 0 -6; -2; 2 -4:-2;0
13. 0;2;8 0;2;4 0;25;5 0;3;6
14. 4:5 4: 6 5,6 2.5
15. -2 -4 -5 -2
16. -5,5 -2,5 -7,5 -0,5
17. -6 -3 -7 -2
18] —2—V5,—2++V5 | —1-v2;-1+V2 | -3-v2;-3+V2 | -1-V3,-1++3
19. -5;3 -5;2 5:1 -4: 3
20, (1;1++2) (2;2+V3) (3;3+V5) (4,4 +6)
2L (1-v2;1++2) | (2-V3;2+V3) | (3-V53++5) | (4—V6;4+6)
22. (-3,5;1) (—4;2) (2;1,5) (-1;6)
23. (é 0); (1:1) (g 0);(1; _1) (2,5;0);(1;-3) (0,5;0); (1; 1)
24 (1;1);(-1;1) (1;2)(=1;2) (1;3)(=1;3) LH(E14)
25 (2;1);(2;-1) (2;2);(2;-2) (2;3);(2;-3) (2;4); (2, —4)
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